8-

Sd:

Q2

Measures of Central Tendency

EXERCISE -~ 23.|

PN T N

() Coledale the  ovithmetc @ean 4- 5.7, beb, T2 9.3
b-2-

(b) The mia\r**ciﬂ%) Cii- g mww born bO\b;Qg ar 3
‘3.9_/ il A0S, Rk Gl 4 3.2 . ’gind the ™ean

\Ql'xah\“ q,- Hhe baloies .

() 8um ¢ 5 obteationd - s.740.b + T2 49.23 46.9 53CD
Moo = 2B =

E)
LY Luin 4 B W—‘&\‘\\“ = 3+3 243 4+43:S 4+ (*'f?)'("f(f‘lf?si
= 2
™ s i‘i - ) .
ecx) 3 = 1) S‘\‘\a
The  wovky  obtained 1S Sudeslt o a clag eyt

ore.  \2, 14, 07, 09, 23 U, 08,13, W1, 19, b, g
- + ]

M, o3, 20 Find
\1) The  mean & their mnavky .

(W The  meon 4 ~eiy worky  whed dhe Toakl d each,
Sodent  ireveated by G

B The moean o Aheir Mokt yhen o marky oo
deducted Loy 4he  wosky 4 eacly, Hudewt.

QO e weat G MAKA  when e warks GL
coch  gtudamk eve  ouded. |



Admin
Typewritten text
Measures of Central Tendency

Admin
Typewritten text
Measures of Central Tendency


o Sum & oavks 4 1S Sudeshs =194+ T+ + Q341 8+
‘ 124 U4 141+ Q4 4 M+ 3490
= ao’]

() Mean = -9(;-2-8—_1 = 13:9

o gd \N')CM"% G ™axkR2 i eoch Student then mCJ’Qa.Q&
OBt = \Sx 4 = 60
New Somd = Q0T+E = Q6T

26
\<

L) gd oleduoura 2 wasKAt  Lyom @cly  udorly | ~ther
| —bEQ_QCMuQ{‘OD = I1SX3 = 3p.

New Sum = &O7- 230 = 1

New renn) = = Ul-8

|
)

New ™eon = L?l = ey

CIV) e v Ke bggﬂ@ Aoaded o encla Guden! oo
He  Pew & = HTx g = Gy

New exan = W& oo
1

Q3 (6 The w™weaon 4- the. umnloe ¥A G,‘(},7,'7\/IL, {
| Eaprent ) ey ong C L &

53

L=,

LoD Twe weam 4§ Vavidley iy ). % dght 4 theny ave
T2, 214,81, 3, Bard IS, find the gt Variate .
Sol. ‘

(@) 8o 4. ~umber = byt TH A+ =

AT+ A+ ¢ —b
%,J\-— “)QD") %_ 5 'ﬂume,T& ':.8 .

Sum = 3xT =2 4O —Ub
"CfOﬂ') o & (i) '
T+ At = 40
= oty =2 13 2 g =13-%




86 -

col.

| (b) Mean & A wvawidly =

Motal Summ =—W1¥9 = A9
Bk o o & o here NowielRy = THAtA4 4 214348 ¢

'S = %9
cooh yaxiali = 49-29 = 10

(@) The maan) of t+ 23 studedli o o clag ' (2yeasy,
G o a‘ﬁi lecvey dhe clag , 4he mreon kbelomes 1&17% |
Yeoxt - tohak {3 e o@e o the aisl D
(b) Gna Clasg Tat - 4he mean o mark’ Scaved by, o
clast o Lo studens umg  colewlaled & (8.5 |ater N
it uny,  detected  dhot e mavky 4o ere chudent g
wnﬂ%}\& Copled o4 8] iokteod & 29, Ciod He Comrect
wess)

Q) Hean oge 4 22 gtudenk = o yeart

Vool ofp = \BXBD = Y29 Yeuxk.
ACley lem)"u‘a oL %‘m\, e rean d. s &'l-uda_;i{

= 1g9l% . 207 yeng.
:;1[5 lh\i

Tokod age 4 32 studeily - Slxze = Gy years,

Yerta the o 4 okl - yeq - WY = (5.
(0 Mesn o marky . Doovwect mavke o (o dudkiy
C-J-D me——

= &= % = W= 2R

A% oowky o ore StudeRl g wﬂrﬁ«é Copied af g
msteod 4 &9 = TQB-alt 99 .z

. . I3b
,.Ccﬂe,f;l-m?_nﬁ = W = :Etl%



Q¢ Find “Hhe meon o O BVen  numbeyt  when the AR
d 10 & e in 13 ond the weon o the T@mﬁn‘tn&

rambert U VB

Sol. Meary 4~ 10 mumloet = |\
S Qam o= \3%I1D = \B0
ard  voean o Te_ﬂﬂirﬁfa 1§ mumletd = 1%
Sum = 1&%x1S = Q70
ol Sum d- &< oumpbe¥d = 1204270 = LOO
| Heon 4— 9% oumbevh = _%}D; b

le Fiod  the  wean 4 dhe %lbw':nﬁ distyvi bution -

Number 5 10 15 20 25 30 35
Frequency 1 2 5 6 3 2 1
X f fx
&l .
E 5 1 5
E 10 2 20
15 5 75
20 6 120
25 3 75
30 2 60
35 1 35
Total 20 390
Hean - = . 390 _39 .
=5 26 g = 1S



Q-

¢d-

| The Corferls o (00  anodchboros  seve clacked 4o

ddoymine e o- antelos 4 Coctainad
No.of | 35 36 k1) 38 3% ‘ 40 41
matches |
No. of boxes | i 1 18 25 Al 12 8
L

) Colewlale , Covrect d0 o cecimal plate. Hhe  rreon no‘oi.'
motchat per box .

(1) Defermine how “‘m?j 2oty Proxdcliet wooald hove 4o Lo

odded to  the. totel Codtenll o Hhe oo bott 4o
b‘frrb e  meon  wpto %mc:!‘-’ftj 29 modehay .

No. of matches No. of boxes

(x) (f) fix
35 6 210
36 10 360
i' 37 18 666
38 25 950
39 21 819
40 12 480
41 8 328
Total | 100 3813

-

20 % Tl = 2R3 - 28

UV New mean = 29 . 'Tclan_ Sum..: 29%¢100 = 2900

() Meaw = 284 332

0 dew madelay 4o be added = 3003813 = 7.



| Coleulate e mean Gor the —%ﬂnuaha Aiehn ation -

Pocket money (in Rs.) 60 10 80 90 100 110 120
No. of students z b 13 Iy, 24 10 3
Pocket money (in Rs.) No. of
(x) students fx

(f)
60 2 120
70 6 420
80 13 1040
90 22 1980
100 24 2400
110 10 1100
120 3 360
Total 80 7420

=Y
s4 - = 92.7%

Siv Coimk  were tdfed 1000 timeg, and ot aoch ok _
the nod heods were  CouiBd e veAuth  were
Yetovded ou umc_iﬁ ;




Qo

No. of heads b

No. of tosses 20

25

160

283

338

140

34

Calcalate the menn r 4hig  distibution.

66

No. of heads No. of tosses
(%) () fx
6 20 120
5 25 125
+ 160 640
3 283 849
2 338 676
1 140 140
0 34 0
Total 1000 2550
Meow = -i_fl . 8O
5 'G _—POTO QS5
find W weow for iy dishioution:
Numbers 60 61 62 63 64 65
Cumul#ﬁve 8 18 33 40 49 55

frequency

60




col. |

Q.

Numbers Cumulative frequency
(%) frequency f fx
cf.
60 8 8 480
61 18 10 610
62 33 15 930
63 40 7 441
64 49 9 576
65 55 B 390
66 60 5 330
Total 60 3757
Heon = ?;1 = 3”{? - ba. blb = b9 b3
Category A - B C D E F G

Wages in Rs per dav 50 ill 700 80| 90 100 | 110

No. of workers 2 4 8 12 10 6 8

(1 Colealate 4. woow M@ﬂlf Covreck to the Wioveg)-
Yupeo -

e e ok

W eoely Qod'eﬂm '
ooy 1%
Aeuboled , whal woould "0?_ e haw WALOIA ‘-\}&_a-( ?



Q2

a—
—

—

The oorkl abkaloecd
Fqominokion oYe @qm velow -

A4.80

s

Y40 % = 3480

oo

i) I Ho Lovkert o doubled | e
Tekal 'l'"}D":'I— wovkex g

Tokal) uINaﬁL also b deulded
S TokeD \D:)ﬁ_l

Conew) mmean

= Sova = oo

- B4-80 - T
o St o Studedly in o

Category Wages [in Rs.) No. of fx
X workers
f

A 50 2 100

B 60 4 240

C 70 8 560

D 80 12 960

E 90 10 900

F 100 6 600

G 110 8 880
Total 50 4240

tir Hepw = __fi . bGagn
sf = 24 B0 = BT

Marks

10

15

20

25

30

No. of students

12




| Glmﬁ Aotk the. meon mOYRe - the ek iy (g | Gleulaly

te rumedced Vlus & a,
od.
Marks No. of students
(x) () fx
5 6 30
10 4 40
15 6 90
: 20 12 240
| 25 X 25x
30 4 120
Total 32+x 520+25x
Meay » —291 . $204 4T
sk 3 4+
Rob Mool = (g {_aiuen)
©0+at g
- e | I

= S0 4+at™ = b+ 18
= 29— 184 = §Tb- S20
= T4 = Sb

= 0 = &

D =3




Q3

ol

1 dhe  Gean ¢.ﬁ1,-ﬁﬂﬂﬂha distribukion & 1.5,

Cied e mi%‘fa Srogpend £

Variate 5 b 8 9 10 11 12
Frequency 20 17 10 8 b 7 b
B Variate Frequency f.x

(%) (f)
5 20 100
6 17 102
7 f 7f
8 10 80
9 8 72
10 6 60
11 7 77
12 6 72
Total 74+f 563 + 7f
&5 1% + £
= b3
= T__'q_'_.]_’f__ - 1S _ e
I+ 6 10 =
D 20563+ 8) = 15CTG 44 )
= &b+ £ < o + 154
S o= ek -te

=)

£

=

b .



ﬂ?m; Find e Voluo d,ﬂ +he muﬁ.irﬂ Voxtaly fov the %dfm}na
L didvibobion  whig toeon W 10

Variate (x.) 5 7 g 11 ) 15 2

Frequency f) 4 4 4 T 3 ) l

&Fﬁ-. let Mithing vaviale ke o, then.

Variate Frequency
(x) (F) fx
5 - 20
7 4 28
9 4 36
11 7 77
X 3 3x
15 2 30
20 1 20
Total 25 211+43x
Hean) = 24 ell4 3
2L Qs
Lok meamn < 1o (given )
?ﬁu——:&f— =10 = 2+ 3% = gcp -

-.:a:) 511'}5?-;}1:_15”
'-"“W“Q Vasdaldt = 13 .




Q1s- Un on  Cromirchon  Aoken bﬁ 50 Cordidalty » “the morkg
ootoired ove gjven i e el leedow. Calenlally tho
WMo WaorkR .

Marks 0-10 |10-20 20-30 | 30-40 40-50
No. of candidates 8 14 13 10 5
cd-
Marks (Class Mark No of candidates
| X X fx
0-10 5 8 40
10-20 15 14 210
20-30 25 13 325
30-40 35 10 350
40-50 45 5 225
Total 50 1150
Meown = EFX w0 o,
2 =5




b Eied g WO - e *FG”W""@ dighribution :

Ql6-|
(Class - intervals | 0-10 10-20 | 20-30 30-40 40-50
Frequency 10 b 8 12 5
gel . Class Frequency Class Mark
() X f.x
0-10 10 5 50
10-20 6 15 90
20-30 8 25 200
30-40 12 35 420
40-50 5 45 225
Total 41 985
Heom = 264 _ 9%c
Qﬂ' Tha 1A ' \

(o Studeik ¢ o clog Wt undey. Calenlolr At
Orithrpetic. WAoo |

Marks 0-8 |8-16 16-24 24-32 32-40 40-48

students b 3 10 16 4 2




Marks No. of students Class Mark
f X fx
0-8 5 4 20
8-16 3 12 36
16-24 10 20 200
24-32 16 28 448
32-40 4 36 144
40-48 2 44 88
Total 40 936

.Aﬁ'{ﬁmc’h‘c. MHiou = & - 33—6 = Q3.
£ ° 6o ¥

Bl Fhe
Moo o g —-Gb!waIna '@awumtﬂ d(d’ribuHOr):

Class -intervals | 0-50 50-100 100-150 | 150-200 200-250 250-300
Frequency + 8 16 13 6 3
Class -interval Frequency Class Mark fx

0-50 4 25 100
50-100 8 75 600
100-150 16 125 2000
150-200 13 175 2275
200- 250 6 225 1350
250-300 3 275 825

Total 50 7150




-

Agithmetc mrean

26

TS0

=4 T sp
weiahﬁ o %0 egas  were tecovded ax  Fiven lelow:

= 43

Weight (Ingms) | 80-84

85-89

90-94

95-99

100-104

105-109

110-114

No. of eggs

5

10

12

12

B

2

1

Coleulale  Hoiv rreowm ‘nEi'ahF 1o e Mmml—%mm.

let-  aspurned  MHooun(A) =

7.
Weight (in gms) No. of eggs Class Mark = ﬂ
h
0 (¥ fo,
80-84 ) 82 -3 -5
85-89 10 87 2 0
90- 94 1 9 ! ”
0 0
95-99 12 97
1 g
100- 104 8 102
2 4
105-109 2 107
3 3
110-114 | 112
Total 50 -3




Hean = A4 hx

c'%.'\EUF - —29
” ‘E?T+§K'_§'ﬁ=‘:}7h3-g_

= 93.% = ﬁ(,,,%mrmﬁ.

The —(}bllcu:riﬂa dalde a |
Aves tue  dad Woges 4 <o
vovkert §- o r-q;:(d-or% ﬂ

Wages(infs) 2530  [30-35 (3540 045 | 4530 50-55 55-60

No. of workers ] 1 9 9 il 10 1

Caltulale 4o wiooun c[mi{d \hﬂq 0 dogher of Hhg.
-de'b"fa- TL- e dﬂlﬁ Woges v} all the wWovkerg
oye. WwCyeased bb\ Ra €, what wil ke the 1ow ean
dgji% woge o} o worser 7

Wages (in Rs.) No. of workers (Class Mark U= g;q fu
h

] (x)
25-30 2 275 -4 -6
30-35 1 32,5 . T
35- 40 5 375 : -
{] 0

40-45 0 425
1 21
45-50 21 475 ) 20
50-55 10 52.5 .

3

55-60 2 57.5

Total 50 34




s

leb- asgumed meanCA) = Ga T and h=¢

(i) Meon =A+h1ﬁ”— = 4@ S49Qy

24

= 42.5423.6 = 4.9

o MHepn

T VE ST

24
=0

() ap R o aw incressed bo  each wovker, ~then

e ncressed

Bt unger = Br. 459 K80 -t 400 ~ By, 269¢C

U HMewy Trnon _:_&E,f}g“ _

S0

the.  woan o tho  Sollow
Cod At vdllue 4 P

port = SOXE = 4Oo

Rs. 5390

didsiloution B 23t .

Class- intervals | 0-8 8-16 16-24 24-32 32-40 40-48
Frequency 5 3 10 p 4 2
Class Class Mark Frequency |
Interval X () f.x
0-8 4 5 20
8-16 12 3 36
l6-24 20 10 200
24 - 32 28 P 28p
32-40 36 4 144
40 -48 44 2 88
24+p 488 + 28p




Moo - aq by i{ll - 224

R +p 10
S (ug3+28p) 10 = azy (&4+p)
= 4RO+ 280P = Shlb~ 23y p
=) 4P = 73b
= P=|b.

. The  Hollowin disttibution  Shewg Hma dai[a pocke -
allbwant - o children of a localily . iy WLgay

pocket altowrnte s R (8. Sind o Vadue 4

Daily pocket allowance (in | 11-13  {13-15 |15-17  |17-19 |19-21 21-23 23-25
Rs)

No. of children 3 b 9 13 f b 4 ‘
| Class _Elass Mark Frequency
Interval X (f) fx
11-13 12 3 36
13-15 14 6 84
15-17 16 9 144
17-19 18 13 234
19-21 20 f 20f
21=23 22 5 110
23 -24 24 4 96
40 +f 704 + 20f




Q23

S

Meaw = _2£% _ oy + 20§ T
R AB + 4
S TOY + 208 =13 (40+4)
= TO4 +20f = 720 + (18§
= af = 1b
5 £ =13

The mean 4 the 40“000"“8 digtvibution i« SO and g
Sum o ol W frequentil 4120 Siod e vellues, o

P and !

Class intervals 0-20 |20-40 40-60 60-80 80-100

Frequency 17 P 32 q 19

Class Class Frequency
Interval Mark (f) fx

X

0-20 Lo 17 170

20-40 30 p 30p

40- 60 50 32 1600

60-80 70 q 70q
80 - 100 90 19 1710

68+p+q 3480+30p+70q




62%-

Sum & all  Ayequenticd {4 90
= O%8APay <120 D Rt =52 (i)

Hear - _,_2‘_"5_1__
=

B4 BO+ 20P 4109,
6B P49, i
D S4BO+20P 4709, o S0(6B+P+y)

= 3460 4 ?,}DP-{-'—]D"—]I; = D400+ SOPp+ S0 9y
=2 3480 -340p -

S50

SOP ~30pP 4 S0, ~ 105,
=) 20P - 209 = &0

= P-4 =
Adliog (D& 5 o
upu‘r P=2% 0 GD,;J&HG"_) i

(i)

5 p - 28
13—-% = L_|| ::JW:Q(?;
The weaw & tha  Lollowin Aubribakion i S 6

o M Qumn d- o\l Ay —%Wﬁﬁq W . Lind
Ahe  Valuo g P ond oy

Classes 0-20 |20-40 | 40-60 60-80 80-100 100-120

Frequency 7 P 12 ! i :




Class Class Frequency

Interval Mark (f) fx
X
0-20 10 7 70
20-40 30 p 0p
40- 60 50 12 600
60- 80 70 q 70q
80 - 100 90 8 720
100-120 110 5 550
32+p+q 1940 + 30 p + 70q

Surn of all —Q-raaﬂhmﬁt_iq_g %50
D B2 APy =<0 D 4y = 1
Nouo FTOCLP_EI a? albow Suertion ,

The. —?o\’cnm'ma “lalde aves  the  life Hre (o da\d{ d-
100 e_le&uﬂt% tubey o o Cexboin  make

s

Life time in days No. of tubes
Less than 50 8
Less than 100 23
Less than 150 55
Less than 200 81
less than 250 93
Less than 300 100

Fiod dha mean life time ¢ olecbricily- tlgey .



b+

| Life time (in days) ef Frequency (lass Mark u=$ fu
(Class intervals) (f) (x)
f— 0-50 8 8 25 -3 K
50-100 23 15 75 T i
100-50 55 3 125 L
0 0
150-200 81 26 175
1 12
200-250 93 12 225
2 14
250-300 100 7 275
Total 100 -

let- astumed  meon C&) = 195 oamd k- <p

Moon = ath » £fu_ | \Is+5npx =60
25 100
= 11S5-30 = 14Sdag

U’:ina the olormakion %'\\)U) W the od(io‘m in%
\-ﬁx,\-otﬁmm , el ol #he weon Covrect 4o ome
decinal  date.

)
A
w2} HISTOGRAM
10}
g el
S 6}
g4
il
0 20 30 40 50 6070 gt

CLASS INTERVAL




o the h'\ﬁoam") giuen  we vepreitnk the
Woformoedion 1o tthe '('O“Ubiﬁa “4oble !

Class -interval Frequency Class Mark (fx)
(f) ()

20-30 3 25 75
30-40 5 35 175
40-50 12 45 540
50-60 9 55 495
60- 70 4 65 260
Total 33 1545

Meow = é{'\ \SGE

s £ 33

. 4681 =68




o

EXYERCTCSE - 23%.2

_—

Q.| A Studedt Scaved e Lollpwi

sk W ) AeAtio ng
dro‘ ﬁqu‘t&hnr) P)"PLT" E/tfz 1/"’?/?3! E,f_, B,ﬂ’ 5‘,7
Find the mredion moski .

A II' ; C '1.& G'Yd'&f '_r 9,-‘ ﬂ/ '-:5; j? S‘ if
% ['|' r o -
i_f [.—-" 8

S deye. D= {1 e ocH
The middle term = DL 40
= 2

,_H
= 'ﬁ‘ = {} “1'e_'|:'“'m1
H-P..du::&.ﬁ = K -

Q2 o ﬁf@ o mediory o —?ﬂ‘llbml?j %t o Pumbery
4,0, 8.8, 5, 25,45 &,7. |

W) for the. Hollowing  Set d- rumleers, , Lird the  mreclian .

0,175, 2, 8, (7, A7, . 48 12,47, 9 and 15.

@"mﬁ:f:&ﬂ ':i . m:r:i:q&mi; O 2,2.36,5,5,7,8,9
Medion = —5%“ texm 4 %-{-f:)*}“}.&f'fﬂj
a( 2%y

L [ Bb et )

50 uts)

= .L[«'Sq

it

"

{\b ) p,-;ﬂ:méir% Hhe %Nu‘} nuMoe YA 0 ajCend ovday
DA 0, W8T, 17, @7, 41, U, 75, 8|
Mere n=)g wahicha Wwooeuen

Hedian = Mean ﬂi—i[%ﬁﬁﬁ*m* Q—ZL.-HJ&‘ "ke_fm]




Qa

8d. -

]G

HMean dl" E‘,H’ and ‘]' dermm

-

= 1S+177
o

- b,

1

G'G 3-‘%{‘0/ 'i\.f ”'I ! l[:},- 'gf ﬂD oaYe i'r}l ﬂ.ﬂﬂ&ﬂdfﬁg deT qhd

ey medion 1y 13, Colcdlaf He  mumevicald velug q-

“
2, 8,10, A0, 10,18, @D arve in aicandir% ovdey

ord thelt  pedian = 13
e n=f which W even

Medions = 5 [ 9 derm + (G JHeven ]
B[ e e
'EE { H"“’*qu,rl‘n -+ '5“1 "fﬁfmt]
AN 2 Al = 24 = w=lo

=L
Catenlate the. mean  ond 4 medion of the NumkeTA ;

é}/l;DrE;r, 11"-'3;‘}"!3/-5--

N‘E'\‘d\’ﬁ 7'-1"'\,. ﬂ})ﬁﬂ‘ﬂ-\l\% D‘leif L‘} Df‘flf ':-'-, 9, ,.5# B_,"B,(F;g
leve n=l0  which Wy even

Mean = L CEWN) = 5 (D44 142424 3434344 + 5 )
\
) 4) =24
Hedioy = —f ID—D-)"‘:ET‘ET} ot %-}[J "ha\"m]
- 3(‘ <th b-h -lcermr,)

- EC&-J;B) =



Qs-

Sol -

Colenlale Hthe  wmeow omd +hy  waediow o the Dumlev
T;Ol;ID/%; 2, f-%!‘.-!u‘ ??/qf[f‘SJGjlf_f?(

Wvitieg 0 asfending  onder
LVt 4. 4,.6,5b,%,9,9,10
Heve. n=14 which i3 even

O Mean = 2N | Ef?(1+1+a+ Q454 G4 U+ G £ S4b 4 B 149410)
M
=L = 2% _ 4.
G (63) = 486
() Hedion = L (7 0™ dorq +L_g+o+h-iﬂrm]
- é[%"_%@ﬂ 4(\%‘“)*‘ hTm]
- é{ﬁﬂ{umfﬁﬁﬁ-fm]
- o5 (u) =y

The neon Gll— the OamberyA 77, 5, 35,40 ]j_\..r‘n, The_
Du et & 3.2,4,2,5 3, P hove rheo)n LR and Tned.:'mﬁ
q . Lind 0Py WO The wean ¢ poond o

N Ej;H&ﬁ Dlr_ \,‘1; 5/ ?J/ L}-,'C.F i'ﬂ 1} E —HE.TG"_ nx:.-b

" = \%'1-":-5-—%3:—[-!{.-‘-& - ¢

1 6
Moy 4 o 9 4,929,722 P iy m—|

-l = Br2444+2+3434
-~ | + En;;trftﬁw
1
=  \4P —n .
—=- => P P=§

() Now median o 3,92, 14,2, 3, 3,4
wiﬁﬂ& +hery 19 cucm:ljvﬁ Ovdey 2,3,

>, i;uf 34,4
Here 0= 7 which B add :



Fird He  tedion Gy the —Eﬂmir*a dixtribution .

Wages per day (in rupees)

38 45

48

55

62

65

No. of workers |

14 8

10

eapal 0 48 )

<

o oMedion = Qg 4B

Wages per day No. of workers c.f.
(inRs) ()
38 14 14
45 8 22
48 7 29
55 10 39
62 6 45
] 2 47
Bexe N: 47 which 8 odd
Hedion = Efltl M ety = M g‘,;_r’“)%e:,.m — t+ s

(.. Heve ol 4he Obmevvuoskiont ~fyem 23 to 29 ave

m'ﬁl:‘m& e didvnibubtion v cumuletive -&m\u&hgﬁ bokle -




| Fird dhe wedian Loy e —?oltnuaﬁna dittsibubion

Marks 35 45 50 64 70 72

MNo. of students 3 5 8 10 b b

mﬁbﬁn& the dirtvibobion W Ctumulalive -?to_o,},xanta tolde *-

Marks No. of students (f) ek
35 3 3
45 5 8
50 8 16
o4 10 26
70 5 31
72 3 36

foxe n= 3 which W even
Hedion = é[% k2™ 4 C%%.-} fh "{Qrm]
= H e+ b derm ]
= 4 C8L+by)
Median.= 64 .



Hoxkh  obtoiwad L&l! -0 Studedll ave a‘wm below -

Marks 20 70 50 60 75 90 40

No. of students 8 12 18 b 9 5 12

colculale Hae  medion  monka.
(Hoty Avarpe Hhe  Yoricley mcendiwg ovdey)

anana"xr% Hre \Jg}ioﬂi} w Q,!,Ce,ﬁdira sxde  ound {fj
C. £, toble .

Marks No. of students (f1 c.f.
20 8 8
40 12 20
50 18 38
60 6 <=
70 12 56
75 9 65
90 5 70

Heve n-T70 Lnich B even
Medion — 1 [ -0 0 ™
2 g term 4 (Ig41)" term |
- -}Elf 2™ doyon 4 %ﬁ"tﬁ-f"h]

- h [
= S0
(Heve ol the obreVokion’ fvom @l to 23 all ave 2quol l‘t}_&“@'



Colenlote the mean and medion Lov the —E)\lotu?nna

®10- o
distnieution :
Number 5 10 15 20 25 30
Frequency 1 2 5 6 3 2

& woriking the digtrilouion \n o F tolde

Number Frequency c.f fx
) ()
5 1 1 5
10 2 3 20
15 5 8 75
20 6 14 120
25 3 17 75
30 2 19 60
35 1 20 35
Total 20 390

! - 5% 230
W) Heon = - _ S
! R 19

() Mevye n=D whieh W even)
Medion < (.0 M derm 4 (Frif Herm)
= 3 20 term + (R4 1)P Herm)
- ":'El_f 1D*"—|cefrm_~+ \1 THJDQ—TTT‘J]
- &Cam-}at}) = Q0
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The dﬁ‘d Wageg ( inTupet ) o 19 Workers are .
b, 21, 3%, 21, 3, 4s, 2%, 2b, 29,720, 29,25, 35,42, (7,

5%, 29 , 3, 35. 1 '
ﬂncl 'LLIIJ'ThL rmdir:m {:‘-71 \.G*-M‘ qt)ﬁ‘i"'ttlé’_ (AL L.LPPLT W‘I{:l‘lé’_

() irfcer qt)ﬂ\'f\:HL Taﬂ&g_,

l;\qi} Ho_d.i&r} = .M -Hj%ﬂ_.‘rr‘ﬁ - lA+) - |o*hch_rm - Bf
o a
o Loy O.llr.LO\‘i"'(:"l."ﬂE‘_ QQ1:J = 4| - 1941 - B4 ey = 9~
. g G

i uppey aparkile (§2) = ”:C%l-) = ?;(_E&"Lf ) = | Sthteym = 4
VD ok WD.TH\P- Tma& = Q-8 =4lopg = 4y

From e Sollowing —?ﬂr@w&mﬂ distibution . find -
() The fmd;f_'kf'} Lo Lode E‘\J\}.E?LTH.IE. t\'fﬁ; U‘PPQI C\t_kﬂ\"i"cile_,_
(W) wker apartile yarpe .

Variate 15 18 20 22 25 27 30

Frequency 4 6 8 9 7 8 f

wriny Srempency o ditkvibukion in C¢. table -

Variates Frequency (f) c.f.
15 4 4
18 6 10
20 8 18
22 9 27
25 7 34
27 8 42
30 ] 48
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Heve n= 4% which by euwen

s 5 [ 8y P term 4 @‘54’4:9_ij = 5[ 28+ 2a)
- g9
obleVakiony Loy 19 %o 2 ave all Q%""“D o 29 .

s Louwoee %n‘i’bi\a@g..j - _:J_""-i;gjm - _Q_f_ = 18P derm = 20
G Upper quacriile (0s) = 20t kerm — B L g Perm <
. L

V2 Tekey ﬂ\i.m‘f‘i.:;."-l?_ T&Tﬁrﬁ_ =R, -Q, = 21~ 20 =3

Q] -

For the- Apllowwing Greopency distvibutise, Sind (i ) the madian
(0 Lowe Y Apevtife. \BD uppey aporrtile .

Variate 25 31 34 40 45 48 50 60

10 15 10 9 6 2

oo

Frequency 3

mﬁﬂw‘é the distwibution v of ’cnh:-lt’_.;

Variates Frequency (f) c.f.
25 3 3
31 8 11
34 10 21
40 15 36
45 10 46
48 9 55
50 6 61
Gl . 63




QY-

Heve oty which 4 odd
(o medion — 24 pdevm = 22" devmn = 20
(>

R;':} ‘LDW':'—T mﬁﬁth@rj - _,Tl[}ll__ “_-._lciz‘;j’ij, :]%;H“LETM = ?_‘)(’t

() uppey apartile (®3) = &JJ‘ = 20630 - ' derm = 48
G

OMe Quoph poger or thit  ayailion
The tolle  gwed kelow  ahowt the wxmr%fcﬂ hb-%u o}

T Cowa —?DJ&OTEE worvke T4,
o U,’l;(r& dhe  —tolde. caloulolt  the curmuldiiye %ewwc;q'

d- woor Be v -
i) Do the Cumulu-'riua. @rmfmmﬁ Cuvye .
(e acmn = e S0O. E*MH“@ he m“.&'m ol . 6TO0 on

o —OIAA ond 2Cm =10 OO THREYA BT ‘j—-ﬁ."lijg

%’f&?h v wiile down the medion

Uity we Houl

woge 'wo R4

WagesinRs | 6500-7000 TO-TS00 | 7500-8000 | 8000-8500 §500-9000 | 9000-9500 | 9500-10000
frequency 10 . i 15 17 10 8

toviking  the ditkribuotion in cumulative {Wﬁ tolde .

Wages (in Rs). Frequency (c.f)
6500-7000 10 10
T000-7500 18 28
7500-8000 22 50
8000-8500 25 75
8500-9000 17 92
9000-9500 10 102

9500-10000 8 110
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(9500, 102) /r"'f

- !
90 {9000, 92)
. L/
70 (B500, 75)
s+———
0 {BO0D, 50)
40 [ |
Jﬂ—-ﬁﬁm.zﬂj/:
20 . .
10 :

I
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7000 7500 S0O0 "B500 5000 10000

Now talking - pimks (1000 10) Grso0, 28) - (@ooD. 50,
(o500, 15) , (Aooo, a2) .~ (A%00,(102) . Q&Dw; o ) on
the quoph and  join them in e hord to By on
oV ( ofF €avve) o4 Chown-
0= WO which 1y evend

Hedion = :‘E[\—gﬁﬁ%&rm A (3 1)*‘ term ]

- [ 55htem 4 H texm )

- w55t pbievvotiont
Gake o [OWE A(S5:S) on Y-oniy and though ctrow a
Ure poxalled o -0z wohich weeli e Cuvye

ok P, deow o 19T om X—oiy which wael] - ongr
o 8- uhith Yepreyill Ry 100

 Nente wadiown = 3100



the —@ltow‘ma toble  2hows 4 didtyibution o the
heiah‘rzg o o Qoup J_ —Rmch:md wovkery

reight (cm) 150-155 | 155-160 160-165 [165-170  [170-175 175-180 | 180-185

No. of workers b 12 18 20 13 8 6

(> Determine the  Cumrulotive  Qrequencies
W) Draw e ¢ F Cowe o o Qvaph poper.
e & = Scm \'136\'\\‘ ON ore oA and 2Cem = |0
LooTHeENR On the. Other.
U Eom your ampb, wiifedown the  madian hq'@hk m .

quﬂﬁfa Ahe distvibukion i CE  distvibubion :

Height (cm) No. of workers cf.
()

150-155 6 6
155-160 12 18
160-165 18 36
165-170 20 56
170-175 13 69
175-180 8 77
180-185 6 83




au ———{103.53)
an (180,77

—70 *
- mﬁ/

P e

= nasam/,
20 {160, “3];/ :
Y M
10
‘155 160 16; 170 75 180 -185
| LT 1

dew N=8% which & «wen
Now) %ﬁ%‘nﬂa oty (155,67 (160,180 ARy Q'Ior‘ﬂ):
(rs, 69D Q%D,'n_),@,“s,ga.) on the  @veph-
Now  JOID them it fron hard to Hdorm  dhe
ogue of oF Cuxve  od  chown,

HeXe D= %3 which i odd

Medion = ._%Jt_].-#h obperokion « B34] _ o™ abaeryakion.
9

Goke o goirk A(42) on Y —awiy and Howm A, diow

o hovizental Ure pavalled to o oviis mJttﬂ& the_

Covve o P Hom P dvow a Gne A to -0
which meel o Q.

U b the medion whidhh W b5y, .
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U’v‘\"& the dalo ai\)eﬂ elow condtruct +he  Cumulatiye

"@ro_a\})&»\ﬁ&d Aable and drouw 4he Oai\k- Lxom e Oa'we.,
dotex i 4he  Tredian):
Marks 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80
No. of students 3 8 12 14 10 b 5 2

Qap'rwn\-{fa the  distvibution

diksibution.

Marks No. of students (f) et
0-10 3 3

10-20 8 11
20-30 12 23
30-40 14 37
40-50 10 47
50-60 6 53
60-70 5 58
70-80 2 60

0 cunoulative frogpency
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o {1 Sl =a—ip
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| . Lunaﬁs T |

Toking oy (10,3) . ®0.1105(30. 23) . (40,31) (50,41,
(6o, 52 1 (70,58 + (20, 60) o0 Hhe graph. Mow  join 4hemn
wo S hond o fom om c:.@'wa oy 2w,

Heve. =060 which 18 even

Hedion = é_[%gqﬁ dexm *({:;TD.*Q% ‘ra:rr‘ﬂ]

. é—[‘ 2t devm 4 BI'H} —be‘rm]
. 2n.sth pbseyvekion.

NOW doke & point AC20:S) on yunu',g and from A
dew o Une povollel 4o w-antig otiof) Hhe Cutue of p
ond Lo P, drow a Qe B0 -0k meeld i,

ok §- Tﬁ |
SR W the mediony  whieh

(N 3o
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The. -Gdlw?%

O qrovph  paper fov thiz guestion
“4alde Shouwt  the u)mahﬁ 0 g o o
Somnple 9 100 potsloes  -taken o a laxge C@ﬂﬁ.ianmvr'ﬁ:

Weight (zm)

50-60

60-70

70-80 | 80-90 %0-100

100-110

110-120

120-130

Fraquency

10

12

16 18

14

12

10

and Do b deterrmine. the

th Galewtsle o Cuwlm'ﬁﬂl!f —Q'cecq;mmtiu~
L Dvowy o0 CF Curve

redion 'n:@,i&hf d— potalooy .

Weight (gm) Frequency c.f.
50-60 B 8
60-70 10 18
70-80 12 30
80-90 16 46

90-100 18 64
100-120 14 78
110-120 12 90
120-130 10 100
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0| 60 70 80 %0 100 110 120 130 X

Now  plob Y poidy (6o, ® .(10,18). @0, 20) @0, ¢4).

Cioor 66 (o, 48 »(1ac, a0) . ng, 100D on the Quoph
ord jointem 0 frebond 4o Grm an oa‘we. ay

Clouwon -
AMexe n-\o0 which g ewven

Mediory — -é [%h-'cerﬂ") 4(:.'%@.+1.>h'{erm]

= HCSO+s) - D5
Now  Aoke o pomt A(SD-S) 00 the Yooy  Ond
Swom & dow o U povolle) 4o -0y mqlkiva Hhe.
Cuvve o P Fom P, dvow a 1% on W~ O
\'ﬁ“ﬂ,@ﬁnﬂ& k- ok § -
8 i e rredion which 14 qg_hm-




&1}3.1 Alempt thin,  quaslion on {j‘ro\Ph papey.

Age (yrs) 5-15 [15-25 25-35 35-45 45-55 55-65 65-75
No. of casualties 6 10 15 13 4 8 7
due to accidents

e Corpbruch the 1-1:2&&'“'\0:0' CE Cuvve Loy 4he  olouwe dmﬂi\,l
Uﬁxf‘& 20 = \D ﬂw‘rh s o ore otdg  ord 2cm= |0
Gosooliiey  on the  Ofrey.

(i o Jouy %mp'rw Aetexmint

U The weedion) () The uppey %Lm'f"cl:{t.

Age No. of Casualties Cumulative Frequency

Less than 15 A 6

Less than 25 10 16
Less than 35 15 31
Less than 45 13 44
Less than 55 24 68
Less than 65 8 76
Lessthan 75 7 83




vow pot e poids A58 ,C25,16) -GS, 2D, @S, 66)
(55, 69, (65,760 and (775,82) on he avoph and pin
thete ol W LRL bard o Eima ey Cu'mL[caiLE,)

al,  Shown .
Heve. n= %3, which b4 odd.

V) Vedion = D41 @341 ey
N 5 = 5 ‘_'___FE.. :_LFEE__,

Now weile poik ACG2D on Y oomiz  and fom A
Ao oo Une pmmﬂe‘k YO - ondn rma’cira te Cuvve
at P oord Bom P dwow o 19T 40 -G mm—Hr(i_c:\J
it or Q-

@ i e oedian which i 43,
i Opper apostile = D) . BBIMD_ 95 | g
Take o poink &(63) o Hha"k?& ond -Glrom & . drow

Dol G o mmondt weelien dhne cuvie o L
| foro L, chiow o Y 4p 5 -0us mtel—ir& ok H

uwhich %, S5, uppex auntiile = sg years .
ot |
a1 iy
- Ty
L 5,66)

ol 3 7
E -|- {dﬁ,-ﬂ} i
30 (35,31) 1 .

i

| L

20 —A G
10— ¥ "
pop | 5]

0 15 25 35 45 35 65 75
Age in years [—s




@Jq‘l The dmil-ﬁ Wopet el bD woTkerA 1na h,:ild{r% projech

Ore @ﬂtﬁ belowd |

| Weight (ke) 40-45 [45-30 | 50-55 35-60 b-65 65-70 T10-75 | 75-80 ‘

| Frequency 5 7| n 8 51 31 20 9 ‘

U“;i“% o ﬁ'mi)h Popey deaw o C‘Ja"tw_ Love the above
Airibution « VAL Your Ogive- 4o eskionale .

¢y the  wedian  woge - the.  tOReTA .

) The wpper aponidle \L‘oﬁu 4 the wothkera .

Ui e Louex %fl—i\e, WoQe d-  the wetkeya,

Uv) Ao Tie_‘ftn.f‘\ﬂﬁ':&_. g workerhk who €oxN rovethan)
2. LS o duxa




Wages in Rs. per day Number of workers Cumulative Frequency
0-10 12 12
10-20 20 32
20-30 30 62
30-40 38 100
40-50 24 124
50-60 16 140
60-70 12 152
70-80 8 160

¥
~1200
180 : o)
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r .;::_...Ef 11 -m{:q,uu} ,,,L/
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now  plot e podly (1o, 12) - (30, 32~ (30, b2 ).(GO, 100).
C’SD; f&lQ, @:ﬂx H{-D), @O’ fEi_} , (%D, I'E'JU_) an +h€._ amplﬂl
uad jpiﬂ e i Avee  hond o fovin on G@'ML
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@ edion = L2 4(RA0) » 4 10 ak0,]
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Ao o llb_! lire 4o i ety §1 ] ﬁl"ﬂEH"ﬁ the Cutue a} P

od Lo P, deow o 19 4o o conia WEH!‘@ it o} @
Medion — B B4 o B3 3430,
U o) upper WT“C’:\E’_ = ZD% = "3";“’& = 120
Goke powk ®(120) on Y_oxisy ond $yom . deows o
Une 11“9 O Ao mtﬁﬁa e Cuvye oF L ond
S Svomn L. Otow o Ve 1Y 4o A- ot meeking i
ab M oand M ois the  Uppel  apusivtile . g
uppeY Auonkile M= U7 o R 4y

b)) Lowex Hle — D o LD .
i\ Qf‘m"‘?- 4 U —Lro

Toke o poik (W) e Y-aug ord Gom ©
dsown o Ure ™ 40 ~_onih ooeliva Ahe Cuvve ol
R ond Syom R, dvow &Uﬂﬂ-j_m'ko q - auA
mep_-b‘ar% iv o) S.

Q1 4he lower Apovtile which 8 @ 25
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Morky  Ccoved bﬁ LOOo S:l"udnﬁﬁ W an ¢ xammnok on
ove ay -olowt

Marks

0-10

10-20

20-30

30-40

40-50

50-60

60-70

70-80

60-90

50-100

No. of
students

10

20

n

55

75

80

12




| Drow e ogm:_ and o it delermine ¢
W The mredion ok ard () The  pash Maaks % 2oy *
dhe  ctudefl P4 Exornicakion.

'Regreswm’c‘\r% the. ﬂ'ﬁ.\}&ﬁ Abs n e cf tolde ad @wn e lpud .

Marks Number of Cumulative Frequency
students

0-10 10 10
10-20 20 30
20-30 22 52
30-40 40 02
40-50 55 147
50-60 75 222
60-70 80 3oz
70-80 58 360
80-90 28 388
90-100 12 400




e

The moxkps obtaimed

oXe ﬁ\xﬂﬁ belowd:

120 Q:udm'b\ o 6. emadhemmoticy Tost

ermale

(1 The  woedion i The  Tower  medion

| Marks 0-10 10-20 20-30 30-40 | 40-50 | 50-60 60-70 |70-B0  [BO-90 [ 90-100
No. of 5 9 16 il i 18 11 b 4 ]
students

L
Dyow On ogue Sov e a‘waﬂ dittvibution  on o am?,h Qeek.
e o Quitalde Scale fov Your Ofwe. Uk your ogive tO

Uiy TThe no-d- duderly uho obmined morethan —5y moyks
e r

fok
U:JT_ Sb.lClv_Ftk who  did not PCL}.’\ - e tesk & the




sol.

Representing the given data in CF table as given below:

Marks Number of student Cumulative Frequency

0-10 5 5
10-20 9 14
20-30 16 a0
30-40 22 52
40-50 26 78
50-60 18 96
60-70 11 L07
70-80 6 113
80-90 3 117
90-100 3 120

T4
@0,117) 1400,120
= a0 ;

T80 90 10
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Mow ue gok e piifl (05 . @0, 16), (20,200, (6o0,52)
(50,18 » (o, 96D (10, 101)- (80 113), (901171 ) and(T00, 120)
an Hee é‘t’aph arsd &Diﬁ e ';pai-'r'ﬁ 1o e bord -J(,ﬁ Lot
o a@u& o LUown. ‘

Move 0= 120 which 18 an ewn pumeY

() Hedian = 5 %*C{%@*’ﬂ = é(@mbl} = BD5

Now Aake o point A(ED5)on Yoawds and Ko A daw
o powallel 4o w-omy mmeling dhe dhe CovVe in P and
o P, cvaw o 1To - onix m.esaﬂa it ot @.

SQ A medion which 4 43 00 (Approx) .

Gl Lowxy apartile = —;‘;’_ :._-lim - 2n

Now Aoke o foik B(E0) on Y-eaR2rom &, dvowo o line
Hm [;0 -0y meetio e Cuasve o Loand ~from L
dvow) o ..Ltn“" 4o -—anul rnu-_{-lr& ok M.

COM s e leudet ‘-\l..\o\"iltup_ which & =p.
(i fa¥e o ook CC15) on w-os £6em C chow a
Ure A 4o reeking e Cutve ot R Tiom R, dwow
o Ure I do -0l weeking y-omit ab s

o ckowt |10 Chudenly setling kelow T15Y. and 190-110= 10
Modedls &'ﬁlva mevethon <15y moTkg, .
(W) pasd percentogo W& G0V,
o -eke o poink DIUO) on -0y and oy D
deawd oo I 4o hranlx mmlc‘wa the Curye of €
o fwom €, dow o e IF!'-HD 0L mec:Hfé Ahe
Y-anis ob & '
CooB O Showy 52 ,
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Dyow an  Ogve Son the following Lrequenty  digtribution.
Ve Your Oaiu:', to estierdle 1 )y The wedian

.\1-1;, e NO- T CGoded),  who obtaired  poorethen "fE%mmkg,
Com Qapave paper o Soue thi WreAton )

Marks 0-9 10-19 0-29 | 30-39 (4049 |50-9 60-69 I?i]-?ﬂ 80-89  (90-99

No. of 5 9 16 2 i 18 1 b 4 3
|

students

thrm¢ﬁﬁn€) e Quen el v e delde ay awen kelow:

Marks Number of Cumulative Frequency
students

0.5-9.5 5 5
9.5-19.5 9 14
19.5-29.5 16 30
29.5-39.5 22 52
39.5-49.5 26 78
49.5-59.5 18 96
59.5-69.5 11 107
69.5-79.5 6 113
79.5-89.5 4 117
89.5-99.5 3 120
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Height (in cm) 121-130 131-140 | 141-150 151-160 161-170 171-180
No. of pupils 12 16 30 20 14 8

pow Are 0Ave  Sor e alsove Al ard from it
detevminge M trecion (L reph paper )

@eﬁmunﬁr& ‘e Alven A& v cumulative —'\?w_c'u@ncé
ade (v Corkipunue cigtwilbution )

Height in cm No. of pupils cf
120.5- 1305 12 12
130.5-140.5 16 28
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170.5-180.5 8 100
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Wiy Heve 3 0Ccuvs  modimum el . Mode = 3
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() Mean = 2 DtOH+@+&+ 343434 44 5+515t51 btbt 78
L

6

U0 Hedlan = "!5(%15—+ Jgii“)] == ( pth } "ﬁ*&-\'mg‘)
- s 4ts) = &5

i Meve & peocurh o maﬂmum —Himes
ode =%



K6-

QT

Sol-

Find he mode By -he —Fcilnu:ﬂra digtyi bution -

15 17

20 21

25

28

23 18

Hove 2O OCCUYA o oiounn ey, L 23 Tirneg

Hode = 20 -

Coleuloli e mooun, e wadion  and Ahe wode o

—Follnmina distsi bution

No. of goals

No. of matches

A 9 e e datcloution W F  dittribution !

No. of goals (%) No. of matches(f) c.f. fx
0 2 2 0

1 4 6 4

2 7 13 14

2 6 19 18

4 8 27 32

7 3 30 15

Total 30 83
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AL o Ehm’ﬁﬁa tompekition, +he Scotes o o Competitor

Score 0 1 2 3 4

Number of shots 0 3 il 4 7

W whak wag higt vooda) <o 7

G whak wag bl wedien  Schde 7

G wrok wos A et Cede )

Liv? whol o008 iy weswn Scde )

<ty aidrilbotion W CF toble .

vavikl "oy
B Score No.of shots c.f fx
(x) (f)

0 0 0 0

1 3 3 3

2 6 9 12

3 - 13 12
4 7 20 28

5 5 25 25

Total 25 80
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Weekly wages No. of workers Class marks cf. f.x.
(f) (x)
50-55 5 52.5 5 262.5
5560 20 57.5 25 1150.0
60-65 10 62.5 35 625.0
7 10 67.5 45 675.0
f0-75
9 72.5 54 652.0
75— 80
5085 6 775 60 465.0
85-90 12 225 72 990.0
8 875 80 700.0
Total g0 5520.
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Class Class Frequency CE Class Mark fx
(before adjustment) (after adjustment) () (x)
0-» 05-95 4 4 _4.5 180
1g-19 0.5-195 b 10 14.5 87.0
w2 19.5-29.5 12 22 245 294.0
i 25385 6 18 345 207.0
:: jz'i"‘” 7 35 45 3115
ot S 5 40 545 2725
40 11900
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Find e mode o e "{‘0“0'&"”6 dietribation bd oh’ow?na

at
= hg,k-o%’mm 2
(Classes 0-20 20-40 40-60 60-30
Frequency 15 6 18 10
& Class Frequency
0-20 15
20-40 6
40-60 18
60-50 0
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Height (in cm) 140- 150 150- 160 160-170 170- 180 | 180-190
No. of students 7 6 B 10 2
Y' 'Y
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E 4 D \
S 2 B
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i /I"/] - x
e 140 150 160 170 180 190
HEIGHT (in r.rn] —_—
Height (in cm) No. of
students
140- 150 7
150- 160 6
160-170 4
170- 150 10
180~ 190 2
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Classes 0-10 10-20 |20-s0 30-40 40-s0 50-60
, Frequency 2 8 10 5 4 3
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L aX
Of 10 20 gjagg 0 S50 60 i
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Classes Frequency
0-10 2
10-20 8
20-350 10
30-40 5
40-50 4
50-60 3
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‘ 1) score 80-v0 O0-100 | 100-110 110- 120 120-000 | 130-140 |
‘ No. of students ] 9 16 13 4 2 |
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80-90 6

90- 100 9

100- 110 16

110-120 13

120- 150 4
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Qts.i The. dmla profilf w R 4 100 Cheps i a mavkeh
. AYe diatributed ot ollows

Profit per shop 0-100 100-200 | 200-300 300-400 | 400- 500 500-e00
(inRs)
No. of shops 12 18 27 20 17 6

pow o hitogram 4 the dafz.  given above, 0w groph
popey and ogtimale  the mode .
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w

O ‘200 200 L300 400 500 600
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Profit per shop (in No. of shops
Rs.)
0-z100 12
100- 200 18
200~ 300 27
300-400 20
400- 500 17
500- 600 6
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B 260

Wt{inkg) ] 40-u4 45-49 50- 54 359 60- 64 (589
No. of students 2 ] IV 10 6 4
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Ne wri e e tﬁﬁ,ﬂm digtribution o cortinuoug v on .

Wt. Inkg. No. of students
39.5- #4.5 2
445- 495 8
495- 545 12
54.5-5905 10
59 5- 64.5 6
64.5-69.5 4
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Mid value Class Frequencv
1 9-15 20
18 15-21 12
24 21-27 9
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30 24
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36 16
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42 4551 8
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